


WARM UP U3 DAY 3§

Solve for the points of intersections.

1. =x%+2x —4 2.x% +y% =17
X %Zx Lf &;(Hé ><z+(ax7';[7
R I =17

NEM = o

\{"Z(3> - -
X1 N =0 ~é+gs Co "

Vo oy= o
GDEnl O e e
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GRAPHING A QUADRATIC EQUATION

REVIEW

= The anatomy of a parabola:

Zerosution, X-

intercepts

Vertex

y-intercept

Axis of Symme

End Behavior:
~ Look at the arrows

T 7

g ‘what is happening
for both x-and 'y

Interval

L
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GRRPHING ‘

Step 1: Find the axis of symmetry ¥ = ——

Step 2: Substitute the a.o.s.in for x to find y 2a

Step 3: Plot the vertex (a.o.s., y found)

lvgin two v alve
P ﬁ ¢ [oSe +o ot ex

Step 5: Reflect this point over the a.o.s

Step 6: Draw a curve through your th=ee points!
Live
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GRAPHING A PARABOLA

Finding the zeros, roots, solutions, and

x-intercepts:
Solve the equation by factoring.

¥=X"—6x+8
0 =X bx+§

> =(X=4) (x-)
X/é/’f/o X-272=0o

Solutions:

x=4,x=2 x-intercepts:
(4,0), (2, 0)
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GRAPHING A PARABOLA
- Find t@f the quadratic.

y=X>—6X+8

&

(O\)Z/(ﬂ(()) i

y-intercept:
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GRAPHING A PARABOLA

= Find the axis of symmetry of the quadratic.

y=X>—6X+8

= Hint: use —b A /
X=— il
2a X @
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GRAPHING A PARABOLA

= Solving for the vertex.

—6
e

\ S
7 O
2 ~l>
= EL

\/—,/7)7 - L) N =0

Y=Y 045 N =3
Vertex is (3, -1)
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GRAPHING A PARABOLA

= Determine if the parabola has a max1mum or a minimum and the
value.

M &Y. or 1 IALW%U

N \u —(— Ve fc)k
Minimum, -1 =/ %

?

—_—
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GRAPHING A PARABOLA

= Determine the end behavior of the graph

= X*—6X+8
e
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PUT IT BLL TOGETHER/TO GRAPH
i

.-"-\.

[ ) Lad oL

A
> 6 Range:

y=X"—6X+8
hoS w=3

e )

Domain:

(-0 [oﬂ>

Increasmg Interval
a L/C
Decreas ng In erval: >< \/ j

</c>ﬂ3)
nd Behavior: /‘/L" e o=

K—) - /y(/-qpﬂ

X—2 o2 )~ — @
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)(i%ulz

= For the equation y = x% —

= ]. solution

O= N = O
o= (A=) -1)
*=3 27y mos

_Q\/\)

= 7. Graph:

@)

v O

2. x-intercepts
H®

5. vertex

4x + 3 find the:

3. y-intercept x-o

y, 4 ncyeasing Interval
C = Z o°
- Decreasing Interval:
 (ne2.2)

nd Behavior: 7
oft,vp | T f,up

;(—S—OO y—MO] X=500 Y—) o0 @
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= For the equation y =-2x? + 2x + 12 find the:

= ]. solution

Oz - YLy 4l

. X-Intercepts

N = -2(0) 420)+1

M= (((00R)
6@/mm

\/_2&_3)%2) \/Valuo rﬁvm‘i’\
X=3 X=2= 7. Graph: =175

Domain: (' O, &4 )

Rz:mge:(__oo / |2.5\]

Increas;ng Interval:

| ( ly

Decr’ea ing Interval:

({l’LI o9
End Behavior: gbd fum

e Pt d g,
X=0=2 =)= |y o0 y Yoo @
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= For the equation y = 15x% + x find the:

= 1. solution 2. x-intercepts 3. y-intercept X=p
X (12x4)=0

(=) 5 . (1) (5.2)| (010

5. vertex

T Za z(l{) 20 (= -,

LU T T Range: E)
/(90):)
: L L [ | Increasing Interval:

! ]

o

: )Decreasm Iriterval:

— ! ! ! ! i | _ Ool I/%

Y 177 EndBehavior:
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= For the equation y =2x?+3x + 1 find the:

= ]. solution

=4, AOS

= 7. Graph:

Teache
r Note:
Use if

needed

2. X-intercepts 3. y-intercept
5. vertex 6. max/min
Domain:
1T T I T I T T T T 1T T T | Range:
' Increasing Interval:

Decreasing Interval:

End Behavior:




LET’S SEE WHERE QUADRATICS COME INTO
PLAY IN THE REAL WORLD...



https://www.youtube.com/watch?v=lbMir1UAO4I
https://www.youtube.com/watch?v=ReHwNtoRMrY

b 00= 2004 57462 6

vertex




